
(1)



R, = 1 mCi  = 3.7 x IO’  disisec HEIS  I = 3.2 x 10-Sisec

2 8



R,
QlfhJ”l$  (2) '&UaWil  N, =- =

3.7 x 10’
= 1.15 x lOl2  o::BlaxJis4

a. 3.2 x 16’

R, = 1 mCi  bEi= 1 = 10-6isec

&& Nt  = 3.7 x 10’

lo-6
= 3.7 x lOI

99m
= 32 x NJ Tc) QSlQ¶J%:

fla'la!&l  '3'I~Q~@lQoJ~~~~U  1 mCUJlflfl~l91Q9  99mTc$d  32 IV'!1

A-

6 x 10z3
f&J

N,  .  A
= 23 n5.l

6 x 10 7
= 3’7 ’ ‘,’ ’ A fls”u/mCi

6 x 1 0  x l
2.4

UURQ uaa  M
-17

=  6 x 1 0 .$+-  fl?IJ/mCi

;Q 3.2  x  10-5/sec  ?

M = J 6 x 10-l' x - 99
3.2 x lO-5

-10
= 1.8 x 10 flGJ/mCi
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I I I

' - TIME 2 3

(4)
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NO
t=

N&A  Tm)

1
T =

e-(/:  TIO)

Oh93
= 8x24~60~60

%Gi
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N, = j-q,+-  WW/(T,~~)

= NJ-  0.693)‘j  (Tli2) (64

= N,,(1/'2)'/'  (T1/2)

I& &hiQWU~~  T,,*



9d 0

a6wiodatu

hlnhld R, =  15  mCiim1

T,/,  _ = 6 TfoJ. &&

t = 7.00 u. i-h  10.00 pd. = 3 “11%

*
Pm%mJ”l5~  (4) aaa: (5) m aaa1 10.00 pa.

R, = ,5ce-(0.693  X3)i6)

= ,5e-0.346

z 15 x 0.07 (?41d111~  Appendix C)

= 10.5 mCiim1
ac,cid.,  dA%J

aa~aaon~a~u-Js~w~~~~1~~~ 15 mCi

15 mCi=
10.5 mCi/‘ml

= 1.43 ml



Elapsed

Time

(h)

D e c a y

Factor

Elapsed

Time

00

D e c a y

Factor

0.5 0.94 3.5 0.67
1.0 0.89 4.0 0.63
1.5 0.84 4.5 0.59
2.0 0.79 5.0 0.56
2.5 0.74 5.5 0.53
3.0 0.71 6.0 0.50



0.693 + 0.693 = 0.693

Tli2 Tli2(Bio) Tli2(eff)

1 1 1

Tli2 + T,,,(Bio) = Tdeff)
(10)

37



T,,*(Bio) = 64 ?U

~~&A  o1t%flMl1s  ( 1 0 )

1 1 1 9

=T,,2(eff) 7 + 64 =-CT

fwiioaam hl&Wl  , T,,, = 5.3 54 = 1632 Wlw”

T,,*(Bio) =  0 . 3 5  Wli

~lKoaxJtlls  (10 )

1 1
T,,,(eff)  = 7 6 3 2  +

1
0.35

3 8
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